


DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING
j Roadway 16 feet wide. Side Slopes 1 on 1.

For Single Track Embankment.
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Ex:ﬂn];lc—'[f p(;int is 25.6 ft. above ;’1‘:1}1(*, ho\\'if:xri:ll( or 5he)
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ould it be from center line
to be a slope stake point? Ans. from Table 30.6. For same slopes but other widths
of roadbed, correet above figures by one-half difference in width of roadbed; thus in
above, for 20 ft. roadbed distance will be 30.6+ (20—16)+2 or 2 ft. added to
.6 =32.6. For slopes of 1 on 114 see inside of back cover,
Copyright, 1914, by Eugene Dietzgen Co.













Core Wall Tren,
Forrnal P ("/, /r"







(4~

rofs
J

2t | ~
a/f /

Fin

)

> Trerch

=V .

\N}







Core wa il F’c.v,;;/f’v

/,, fay



















bo,

w

-
-

-Ir/_’.’ £

d,







»

2L -
7 S0

77K

-
C

7

/l Toe

’

/(jc("',‘( ~















































































o e ——————— e e —







































































































e e e
— = . * —
















BTRNCE SR — <




P}

: { v el )
E oty Tanrnnel | ,
DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 17/,
CALCULATION OF EARTHWORK, For Single Track Embankm:nt-
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Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for 6 ()l'(;
tenths of width are one tenth the values found under each height considering the widths . 66. (:‘ -
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the 68.3 | 68.5
figures opposite width considering the heights from 1 to 9 as tenths. Thusif w =16.2and |
h =5.3, cu. yds. =1.484-.028+.089 =1.597 cu. yds. orpractically 160 cu. yds. per 100 ft. . "
If w exceeds 40 ft., use one half and multiply result by 2, if both w and h are large use
one half gf each a]nd multiply resul]t by 4. - Anfy }(l‘mss—sccifion may l‘()le divided into
triangles the following rule. To the triangle of the sum of the outside cuts (or fills y: xS - o : s34k o adbadst 1
=h, and }/Z};,hc roadbed =w, add the triangles formed by taking the distance 011: tr; (‘no\ll 2 3 {'firruw Uh,(:.hc ngr b('Y U‘;'ﬁi}{;gfﬁ'gi,fe(gfffﬁ,‘;fﬂ» ;;1-0‘21 ;2“;&3’@%‘?;’{8‘2&"5"
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h’s) abov e for “Uf b roal ')’fip -(‘__‘»,jm ?t’ront R !
always subtracting the outer from the inner, For slopes of 1 on 1 see inside o! s
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ample—If point is 22.6 ft. above grade, how far should it be from center line to
ype stake point? Ans. from Table 41.9. F je slopes but other widths of

Made in Germany.




